97HA, B 9} ei%} D,E,F,G ©] 63 9let.
HEY ), 29 B o4} B 82

o] TolA 279 HEE

1 2 3 1 1
®y Wy @35 @5  9f
B 298 B 39 2t X0 _150p)
o 9ol HjEst B 99 S 50 = 6(7HA)




1

>
-
N,
N

I
>
R
o
)
lo
JL{
kl
3_[5
nt
4
!

C
o

FRYE G, g
& ol A7l 2 =&

rlo
-9

@ @

[SSER )

1
4 6 12

DN | =

B ;
DE ALY FE4x3x2x1 =24 (7HA)

Frgo] o Eoll AA 2 B%: 2714

11 Zp7r o] Aol tiste] Zrlolet o) 7hedl AA 2 F¢=
247} 27} 2| o] e,

_ 2x2 1
* ﬂ'E = = =




3Qﬂ¢%&6ﬂ£ii§%§q1’

79]

P
QFTT_‘

L7MEE1%%EQE§4




4. & 1A AABC = AC = BC ¢l o]5HAZtgolth, BD = CD
o]il /B =35° < uf, /ACD 9] 37]&9

A

B35

D 65° @75° @ 85° @ 95° ® 105°

B *

AABC ©f|A]

LCAB = 35°

/BCA = 180° — 2 x 35° = 110°

T ABCD += BD = CD ¢! o] 54z ol n g2
/BCD = 35°

5 .ACD = 110° — 35° = 75°




o o] FASIE 9 u), Ao o] b ¢
ol & Ho +E bt & W a + b 9] F2?

® 2 @ 3 ? 4 @ 5

2, 4, 69_Ea:3o]_}1’
2, 3, 52 b= 30|t}




® 108 714

6x8x 12 =576 (7}A])




oAzt 4 g, A2 B2 dE2 Ae u, G237 F Bl AA HE
A5 =57

D)48 71A] @ 56 71A] @ 120 714

@ 240 714 B 720 7}HA

S22 & 2ol AAl B A= 27,
47t 4 S YEE A= A= 4x3x2x 1 =24(71A])
oA BE 7399 & 2x 24 = 48 (7HA])




1,2, 3, 4, 59 277} 44 7tE0} Ak o o)A 33e] ES
BE A9 S F KA

3 @s5h @9l @A 6157

(1,2,3)=(23 1)=(3, 1,2)=(3,2, 1) = (2, 1, 3) =
(1, 3, 2)0]|B2
5710] A4 F £ Ao BAY] 34S Hat e

[e}
5x4x%x3
- = 7H) o
3x2x1 10(H) 1=




14
)
Nl
R
Rl
S-II‘
£

Mol #4912 FAO] AAA e o] 48 717

=
=
HEAA gx—h =09 37t 2 B 6 529
2 oL
6 oIt p =24 ZS%c

ax—b:(]oﬂ/ﬁx:i—j:QPF_—t—
(1, 2), (2, 4), (3, 6)9] 3 7FA]°]1,

1 7Holet,
SR=e) 3 1 _ i _1
et gge Lo Lo L log




10. o2 B o]k mRop A4=9] 21t 100 EFA ] gt 7| Sl th2

|

B oA o] A7t 2 SE

rr
foi
m
o
o
i
e

£ [32 2= et] oot [hAIT] ok | @A
b) 3 14 22 8 48 | 100

3 17 11 19 2
P P ©95% Wi %3

14 5 19

700 T 100 ~ 100




11.

100 9] 53 50 De] B 123 A9 1S FAI 9
W, $HE B 5Wo] Lo 1, AN 3 9 teo] 112 SHES 4}
w7

5 1 1 1 1

Op Wiz @5 &5 © 3
1 1 1 1
— X=X == —
2 2 06 24




20°

@ 55° @ 60° ® 6 @ ® 75°

AGHI, AJLK = RHS &%
o /x = /LJK = 180° — 90° — 20° = 70°




[} [e]
2 A2?

o)

|

o
= 5 B2

o,

St
=2

13. A, B, CAl Aol 7HEIEE

i
o
Gl
oju
QS
m|]

@ Al Abo] 2% o

[\l Kar}

Ml — 1o o

- ..
—lo g W
oo BMOW
oW R R
I Iy
U - RN
T o < <
© e e @

— e
™o I
I =i
— i %
|
o &[S
©® @ ©




14.

ok 1817} o] H7olSHA7E ABC
T A B, CoAA A A E A= Ao Y= A
S0 92 22t D, B 2t 544 BD = 1dem
,CE =9cm ¥ o], DE ¢] Zdo|=2? pLldem g
E 9cm” C
@ 3cm @ 3.5cm ® 4cm
@ 4.5cm ®)5cm

AABD = ACAE (RHA &
AD = CE = 9cm
.. DE = AE - AD = 5(cm)

5)°]2Z BD = AE = l4cm ,




15. o= "M «C = 90° o], AC = ]l 2ol Az

ABC oA /A 2] o]5 82X 0o] BC o vttt M2 D & 5lal, AB =
AF=7
E 2 % 2 E 2
@ 5 cm @ 5 cm ©) 5 cm
@ 33cm? ® 51lcm?

A D oA AB ol W A47k0] W& H 2 o}, AAHD =
AACD(RHATHE)

I'g)
D 5cm”
ABHD & A7}o]Suaztgo]| 0 2 DC = DH = BH = 5(cm)
1
w2kA AABD = 17x5x% 5= 82—5(cm2) o], AADC = 5x12x
1
5= 30(cm?) o]t}
85 25

AABD 9} aADC 9] ol 2 - - 30 = < (em?) O]tk




